Rechenkastchen
Ubungen

Erganze die Rechenkastchen.

1110 |+ 750 |= 860 | 130+ 790 = |
+ - + -
1780 -| 160 |=| 620 | 1670 |- 460 =
]
1100 |+ 640 |= | 1480 |+ 430 =
+ - + -
1830 - 440 = | 1380 - 110 |=
] ]
1150 |+ 800 |= | 1280 |+ 400 =
+ - + -
430]-1120 = | 1510 ]-1 220 =
] ]
1550 |+ 350 = | 1250 |+ 360 =
+ - + -
1370 -/ 250 = | 1490 |- 350 =
] ]
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Rechenkastchen
Lésungen

Erganze die Rechenkastchen.

1110 |+ 750 |=| 860 |
+ -

1780 -| 160 |=| 620 |
1100 |+ 640 |=| 740 |
+ -
1830 |- 440 = 390
1150 |+ 800 = 950
+ -
1430]-| 120 = 310 |
1550 |+ 350 = 900
+ -
1370-| 250 |= 120 |

1130 |+ 790 |=| 920 |
+ -
1670 |- 460 |= 210 |

480 |+ 430 = 910
+ -
1380 - 110 = 270

1280 |+ 400 |=| 680 |
+ -

1510 |- 220 |= 290

1250 |+ 360 |= 610 |
+ -

1490 |- 350 = 140
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